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Input {(Read) cycle
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Port A to Data bus
Port B to Data bus
Port C to Data bus
CWR to Data bus

Ag

Output (Write) cycle
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Data bus to Port A
Data bus to Port B
Data bus to Port C

Data bus to CWR




Block Diagram of 8255 (Architecture):
1. Data bus buffer.

2. Read Write control logic.

3. Group A and Group B controls.

4. Port A,BandC.
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Mode Set flag .4
1- active
0- BSE mode

Control Word Formmat of 8255

D- Ds D Dy Dy D, D, Ty
hMMode Foa PA o Mode PE —_—
Port A B C for PB

Group - A Group - B
PCu 1 Input PCT. 1 Input
0 Owwbpuat
_________________ 0 Ouiput
1 Impui P 1 Teroat
| PaAa 0 Output | " B P
Nlode 00 — mode D 0 Owiput
of PA 10 — mode 2 ect 1 mode. 1
Figure (3)



Mode of operatlon of 8255

/

BSR Mode

Bit Set/ Reset

For port C

No affect on I/O mode

Mode O
Simple I/O

For ports A and
B, C

I/O mode

Mode 1

Handshake 1/0O for ports
A and B, port C used for
handshake

Mode 2

Bidirectional data bus
for port A, port B,
either in mode O or 1.

Port C bits are used for
handshake.



Mode Set Mlag g
1- active
0- BSE mode

Comtrol Word Formmat of 8255

D Ds D Dy s i B I, Dy
Mlode Foa PA o MNode PR p—
Port A for PB
Group - A Group - B
PCu ; Elput " PCL 1 Imput
_____________ wput | 0 Owtput
ot i i 1 Inpunt
| A 0 Owput > B P
Niode 00 — anmode O 0 Owiput
] Select 01 — mode 1 I IS\'Zlde 0 mode. O
of PA 10 — mode 2 ect 1 mode 1




Examplel: what is the mode and I/O configuration for ports A,B and C
of an 82C55A after its control register is loaded with 82 H.

1000 0010

DO PCL =0 Output

D1 PB=1 Input

D2 Mode for PB mode O
D3 PCU =0 Qutput

D4 PA =0 output

D5D6 =00 PA mode 00
D7=11/0
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